B.Com. Semester-Il (Honours) Examination, 2022 (CBCS)
Subject: Cost Accounting - | (Syllabus: 2020-21)
Paper: CC-3 (2.2 CH)
Time: 3 Hours. Full Marks: 60

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
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1. Answer any ten of the following questions: 2x10=20

6K 2R (T @I wIfB 2ree ek e
a) Mention one point of difference between cost and costing.
AT 8 AR AT N0xy G5B ~N1LFT Sraqd FAT
b) What is opportunity cost?
STCITSY AT I
c) Mention the elements of cost.
AFIITIL GAMIN S B AT
d) What do you mean by chargeable expenses?
SOTF YA JeICo B (T2
e) What are Goods Received Note?
WA 2N > 1 Sramd e
f) Give one point of difference between Bin Card and Stores Ledger.

fINPIG 8 TH TEIEE WY A6 LT &l

g) What is perpetual inventory system?
QAN A fNTST g A [N 0% Fie

h) What is Danger Stock Level?
RGEE g B 2

i) Mention the names of any two mechanical methods of Time Keeping.
ST IR (AT 76 TMFP @O [N @]

j)  What is the main theme of Taylor’s Differential Wage Rate?
(BARA NAFTYAS NG 2RI T [[TTIE 2

k) Define overtime work.
HGPT PG AR 713 |

I) Classify overhead according to function.
FIAR fSFEre SARAMII TR FCAT

m) Mention one point of difference between allocation and apportionment of overhead.

TARFITI ST R 8 WANSF T I6N A7 B0 ATLFT Ty FEAT

n) What is the basic assumption underlying the step method of redistribution of service
department costs?
CT]T SV RO ARIIICA LGN 419 VGG T YNNG B2

o) What is Integral Accounting?

JF AP BARTFYT I

2. Answer any four of the following questions: 5x4=20
fRT67 oM@feR (T (1 51afB TR Tod wie:
a) Discuss the objectives of Cost Accounting.
AR FBARTFV- G Srren el SETs= FCAT

b) What are the factors that are to be considered for selecting the appropriate method of
pricing issue of materials?

STATST?



c) What are the necessities for preparing the reconciliation statement between profit /loss as per
financial accounts and cost accounts?
AT ¢ Wil sTe/wo7 wieael [l 4FS T TGS Fi

d) The weekly consumption of a particular raw material of X Ltd. is : Maximum 240 units and
Minimum 76 units .The economic order quantity of this material is fixed at 640 units. Re-order
period is 3 to 7 weeks.

What would be the Re-order Level, Minimum stock level and Maximum stock level of this material?

{ 3G 2 w8 }

e) The following is the budget of a manufacturing concern for the year 2020:
Factory Overhead Rs. 1,24,000, Direct Labour hours 3,10,000 hours, Direct Labour cost
Rs. 1,96,000, Machine hours 10,000 hours.
From the above figures prepare the Overhead application rates using the following
methods:
(A) Direct Labour Hours, (B) Direct Labour Cost, (C) Machine Hours.
Also prepare a comparative statement of cost showing the results of application of
the above rates to job No 551 from the under mentioned data:
Direct materials cost Rs.90 Direct labour hours 180 hours
Direct labour cost Rs. 150 Machine hours 60 hours.

{ 3G 2 w8 }

f) The following information is available from the records kept by the Personal Department of a
Company.You are required to calculate Labour Turnover Rates by applying-(i) Separation
Method, (ii) Replacement Method and (iii) Flux Method:

Number of Workers on the Pay Roll :

At the beginning of a month 4200,

At the end of that month 4800

During the month 160 Workers left the Factory while 80 workers were discharged.840 workers were

recruited during the month, of whom recruitment of 180 workers was in the vacancies of those who

were separated from the company while the rest were appointed in accordance with an expansion
plan of the company.

{ 3G 2 w8 }

3. Answer any two of the following questions: 10x2=20

fNea 2T (7 @I Bfe ATNe Ted Wie:

a) What are the causes of creation of Idle Time? How are the wages for idle time shown in cost
accounts?

ST T R FiETef Fle wErt e WG AR RiE Freid mRieT =2
b) From the following particulars relating to the production and sales for the year ended 31°.
December, 2020, prepare a cost statement showing therein (1) the Prime Cost, (Il) the Works
Cost, (Ill) the Cost of Production, (V) the Cost of Sales and(V) the Profit or Loss.
Stock as on 01.01.2019: Rs.
(a) Raw materials 25,000
(b) Work-in-progress
At prime cost Rs. 30,000
Add: Manufacturing Expenses Rs. 6,000 36,000

(c) Finished goods (at cost 8,000 units) 1,44,000
Raw materials purchased 2,00,000
Freight on raw materials 10,000



Machine hour rate 3
Machine hours worked: 48,000 hours

Chargeable Expenses. 50,000
Factory wages for direct labour 2,70,000
Administration Expenses 1,00,000
Selling Expenses. 54,000
Distribution Expenses. 36,000

Sale proceeds of finish goods (30,000 Units) 9, 00,000
Stock as on 31°%. December,2019:
(a) Raw materials 45,000
(b) Work-in-progress
At prime cost Rs. 45,000
Add: Manufacturing Expenses Rs. 9,000 54,000
(c) Finished goods at cost (10,000 units) ?
Finished goods produced 32,000 units.
Apply LIFO Principle in finished goods valuation.

{ 3G 2% wEF }

¢) In a manufacturing concern there are four departments viz.A,B,C and D. A and B are
production departments and C and D service departments. C renders services worth Rs.
12,000 to D and balance to A and B in the ratio of 3:2 . D renders services to A and B in the

ratio of 9:1
The overhead expenses incurred in a year are as follows:
Rs

Depreciation 95,000

Rent,Rates & Taxes 18,000

Insurance 7,600

Power 10,000

Canteen Expenses 5,400

Electricity 2,400
Following further information is given regarding the departments:

A B C D

Direct Materials (Rs) 6,000 5,000 3,000 2,000
Direct Labour (Rs) 20,000 10,000 10,000 5,000
Floor space occupied (sq.ft) 5,000 4,000 1,000 2,000
Value of Assets (Rs. In lakh) 10 5 3 1
H.P of machine 1,000 500 400 100
No. of workers 100 50 50 25
Light and Fan points 50 30 20 20

From the above particulars prepare a statement showing overhead expenses of production
departments A and B after redistribution of service departments’ expenses.

{ 3G 2% w8 }

d) The particulars of receipts and issues of materials in a factory in January 2020 are:

Jan. 1 opening balance 1500 kg @ Rs 12 per kg
Jan 2 Issued 650 kg



Jan 5 Purchased 400 kg @ Rs 12.50 per kg

Jan 9 Issued 300 kg

Jan 10  Purchased 200 kg @ Rs 12.50 per kg
Jan 11  Issued 300 kg

Jan 12 Returned from Workshop issued on 2" January 20 kg

Jan 13 Issued 450 kg

Jan 16  Purchased 500 kg @ Rs 13 per kg
Jan 18 Issued 400 kg

Jan 22 Purchased 300 kg @ Rs 12 per kg
Jan 30 Issued 200 kg

Pricing of issues is to be done on FIFO basis. A shortage of 10 kg was noticed on 16th January.
Prepare the Stores Ledger for the month of January 2020.

{ 3QEG 2% wEJ }



B.Com Semester-1l (Honours) Examination, 2022 (CBCS)
Subject: Cost Accounting (Syllabus: 2017-18)
Paper: CC-3 (2.2 CH)
Time: 3 Hours. Full Marks: 60

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
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1. Answer any ten of the following questions: 2x10=20

fNod e (7 @ Wt 20 Sed me:

a) What s cost unit? Give an example.

AT JFP P2 JH6 GHIRAT WS |
b) What is imputed cost?
SIS AR Fi?
c¢) Whatis cost sheet?
AR ©IferHT 2
d) Whatis meant by Bin card?
RPN IATO P ([QRA?
e) What is meant by bills of materials?
WHGS [ Fe00 T @R?
f) What is Danger Stock Level?
fRITSEwE TG© BT BI?

g) Mention the names of any two manual methods of time booking.

SN FRARTHR (T (HIAT 70 TBBIer AGHOF AN Srad FE7|
h) What is Labour Turnover?

N A[TOF Fl?
i)  Whatis idle time?

AT SN B2
j)  Whatis factory overhead?

PR ALFIS SAIIT BP?

k) What is absorption of overhead?

TARIITIT WQFIT 2

I)  Whatis ‘Escalation Clause’ in the context of Contract costing?
m) What is ‘Retention Money’ in the context of Contract costing?
fE1 AR Nf rgfox Afafers afFs o St
n) Mention one point of difference between ‘Joint-products’ and ‘By-products’
(Y- 8 SHA- AN IR N ABT6 NLFT ST AT

o) What s Integral Accounting?

JFAIFS BARTHY Fl?

2. Answer any four of the following questions: 5x4=20

fNToa aeEa (7 @ 5rafe AT Tad We:

a) Discuss the advantages of Cost Accounting.

AT AR AR A ST

b) Distinguish between Contract costing and Job costing.

1



c)

d)

e)

f)

P& 3t o ke Ref »rafs aae Fefefes ~faam Mo ~&fon s #tde s

What are the necessities for preparing the reconciliation statement between Costing and
Financial profit /loss?

T ¢ Wt Ao/ ey Rl 2gs [ e Hi?
The consumption of a particular raw material of X Ltd. is : Maximum 240 units and Minimum
76 units .The economic order quantity of this material is fixed at 640 units. Re-order period is
3 to 7 weeks.
What would be the Re-order Level, Minimum stock level and Maximum stock level of this
material?

{ 3G 2% w8 }

From the following details calculate the total earnings of a worker and the effective hourly
rate of labour wages where bonus is paid under (a) the Halsey (50%) scheme; (b) the Rowan
scheme:

Basic rate of wages per hour  Rs. 3.60

Time allowed for the job 16 hours

Time actually taken 12 hours.

{ 3G 2 w8 }

The following details have been extracted from the records of a building contract which ABC
& CO. is carrying out:

As at 31° December, 2020

Rs.
Contract price 5,00,000
Cost of all work for the year. 2,12,500
Cost of all work not certified 12,500
Value of work certified. 3,12,500

On 31%. December, 2020 the end of the financial year, the cash received on account was
Rs. 2,81,250, being 90% of the amount of the surveyor’s certificate. You are required to
calculate the amount of profit to be credited to Profit &Loss account on 31*. December,
2020.

{ 3G 2 w8 }

Answer any two of the following questions: 10x2=20

fAToa erefEa (7 (@I 5B S0 Sed we:

a) Discuss the areas of similarities and dissimilarities between Cost Accounting and Financial

Accounting.

R DEwY 8 T FARTFI- a7 W& (e 8 e rFasf SiEma S

b) What is process costing? In which cases the use of process costing is considered suitable?

c)

How do you treat * Abnormal Loss’ and ‘Abnormal Gain’ in process costing? 2+3+5=10
AGFT AT [efT FES I T2 (FN (I CFLa Al AT [efy svafox oy
e [REbe = afFw AR [ Taere gt ek aeiRe o' @
OIS Ao AN ABGS FCA?

From the following particulars relating to the production and sales for the year ended 31°%.
December, 2019, prepare a cost statement showing therein (I) the Prime Cost (1) the Work
Cost, (Ill) the Cost of Production, (V) the Cost of Sales and (V) the Profit or Loss.
Stock as on 01.01.2019: Rs.
(a) Raw materials 25,000



(b) Work-in-progress
At prime cost Rs. 30,000

Add: Manufacturing Expenses Rs. 6,000 36,000
(c) Finished goods (at cost 8,000 units) 1,44,000
Raw materials purchased 2,00,000
Freight on raw materials 10,000
Machine hour rate 3
Machine hours worked: 48,000 hours
Chargeable Expenses. 50,000
Factory wages for direct labour 2,70,000
Administration Expenses 1,00,000
Selling Expenses. 54,000
Distribution Expenses. 36,000
Sale proceeds of finish goods (30,000 Units) 9, 00,000
Stock as on 31°%. December,2019:
(a) Raw materials 45,000
(b) Work-in-progress
At prime cost Rs. 45,000

Add: Manufacturing Expenses Rs.__9,000 54,000

(c) Finished goods at cost (10,000 units)
Finished goods produced 32,000 units.

?

Apply LIFO Principal in finished goods valuation.

{ 3G 2 w8 }

d)

In a manufacturing concern there are four departments Viz. A, B, C and D. A and B are

production departments and C and D service departments. C renders services worth Rs.
12,000 to D and balance to A and B in the ratio of 3:2. D renders services to A and B in the

ratio of 9:1
The overhead expenses incurred in a year are as follows:
Rs

Depreciation 95,000

Rent, Rates & Taxes 18,000

Insurance 7,600

Power 10,000

Canteen Expenses 5,400

Electricity 2,400
Following further information is given regarding the departments:

A B C D

Direct Materials (Rs) 6,000 5,000 3,000 2,000
Direct Labour (Rs) 20,000 10,000 10,000 5,000
Floor space occupied (sq.ft) 5,000 4,000 1,000 2,000
Value of Assets (Rs. In lakh) 10 5 3 1
H.P of machine 1,000 500 400 100
No. of workers. 100 50 50 25
Light and Fan points. 50 30 20 20

From the above particulars prepare a statement showing overhead expenses of production

departments A and B after redistribution of service department’s expenses.

{ 3G 2 w8 }



